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£AA LLES) TEEM |FEWMSIOHE|HEKY| 28 (ko) | BIEM) PIEE) | RiEME) w5 No.
R7.106 |ZL\CA dtimiE Y 10 ®
R7.106 |ZL\CA FE Y 10 ©)
R7.10.6 [f2L\ZA &t Y = @
R7.10.6 [[ZALA e Y 10 @
R7.10.6 |I2ALA A Y = @
R7.106 |ZI1E> JtigE Y 10
R7.106 |ZIF> B Y 10
R7.106 |ZIF>5 i i) -
R7.106 |hACA T Y 4
R7.106 |hACA &% i) -
R7.106 [lE<EL EH Y 15 ®
R7.106 |[Z<ELY At i) = ®
R7.10.6 [F+~_Y B2 =Y 10 @
R7.10.6 [F+~_Y HE =Y 10 @
R7.10.6 [F+~_Y &% =Y = @
R7.106 |7RoL2vUy 3] =Y —% ®
R7.10.6 |7RoLVU™D HE Y —% ®
R7.10.6 |RyL VY™ Bt Y = ®
R7.106 |R& (F) FHlE =Y —K ®
R7.106 [ (A) EH #Y 5 ®
R7.10.6 [fa¥ (&) EH =Y 3 ®
R7.106 |[f¥ aF Y = ®
R7.106 |t/LU— &% Y 10
R7.106 |t/LU— &% Y -
R7.106 [L&ZR EH =Y 10 @
R7.106 |LAX Gidci] Y 10 @
R7.10.6 |[L&R aF Y = @
R7.106 |EW5Y (R—3—) id5 Y 504
R7.106 |ZEw3Y (H) i1} =Y 5
R7.10.6 |Ew>5Y(H) #E Y 5
R7.10.6 [Zp>5Y A&t Y =
R7.106 |MFb% JtimE Y 10 ©
R7.106 [ (Eb% A&t Y = )
R7.10.6 |19 (@) gD Y 5 ®
R7.10.6 |49 (%&) F5 Y 5 ®
R7.10.6 |79 (K) RER Y 4 @
R7.10.6 [#9 A&t Y = ®
R7.106 |~<h JiE Y 4 ®
R7.106 |~<h B4 Y 4 ®
R7.10.6 [F=k &3t Y = ®
R7.106 |E—<> B3 Y 0.15
R7.106 |E—<> i Y -
R7.106 |MAL& FIE Y 5
R7.106 |MAL& i Y -
R7.106 |[Ehl L& JtimE Y 10 ®
R7.106 [[FhiL L& A&t Y = @
R7.106 |&&LVE FE Y 340 10 ®
R7.106 |&&LVt =I5 Y 0.5 ®
R7.106 [&&Lvd &3t #3#Y 34.0 ®
R7.106 |®FEELLVE FIE Y 4
R7.10.6 [HFEELE &Et Y -
R7.106 |f=FEh¥E JtimE Y 20 )
R7.106 |f-Fh¥F A&t Y = ®
R7.10.6 &L V=1 FHlE Y 0.1 ®
R7.106 [#£LULV=IF A&t #3#Y = ®
R7.10.6 |ZDE11T+ RE iy 0.2
R7.10.6 [ DEFT &Et Y -
R7.106 | A%HL&HL RE Y 0.1
R7.106 | AHL&HL B Y 0.1
R7.10.6 [57L&HL &Et Y -
R7.106 |5t Y 34.0
R7.10.6 |#&t Y 34.0 min:RE
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FAH LLES) TEEM |FEWMSIOAE| BEW |28 (k)| BIEW) B (M) ZIEM) w5 No.
R7.106 |2 CA ItimE A%t 165 10 1,836 1,728 1,620 @
R7.106 |ZL\CA FE ik 10 ®
R7.106 |FFL\CA A&t ik 16.8 O]
R7.106 |ICALCA dtimiE ik 5.7 10 1,944 1,836 1,620 @
R7.10.6 |ICALA i ik 5.7 @
R7.106 |ZI1E> JtigE ik 10
R7.106 [JI1F5 H ik 0.3 10 4,752 4,752 2,808
R7.106 |ZIF>5 i ik 0.5
R7.106 |hACA T ik 32 4 2,160 1,944 1,620
R7.106 |hACA &% ik 3.8
R7.10.6 [lE<&LY % A%t 122 15 3,024 1,620 1,404 ®
R7.10.6 (&< i ik 12.2 ®
R7.106 |FrRY 3] A%t 10 @
R7.10.6 [F+~Rw BHE A%t 26.0 10 1,080 1,080 875 @
R7.10.6 [F+~_Y A A8t 26.8 @
R7.106 |7RoL2vUy 3] A%t 02| —% 194 130 ®
R7.106 |7RoLvUy BE A%t 04| —% 248 200 173 ®
R7.10.6 [RyL>vy i A8t 0.7 ®
R7.106 |¥ (§) Gidci] fiks —K ®
R7.106 |RE(A) % A%t 20 5 2,484 2,484 2,160 ®
R7.106 |RE(A) &% At 2. 3 1,701 1512 1,458 ®
R7.106 |1a& aF ik 5.1 ®
R7.10.6 [t)L1)— % A%t 0.6 10 3,564 3,024 2,808
R7.106 |t)LY— aF ik 0.6
R7.106 [LAZ % A%t 8.1 10 4,104 1,566 @
R7.106 [LAZ FHlE A%t 0.1 10 3,078 3,078 2,700 @
R7.106 |LAR Eh ik 8.7 @
R7.10.6 [Ep5Y(X—3—) FHlE fiks 01| 50& 3,024 1,620 1,404
R7.106 |ZEw3Y (H) i1} A%t 1.7 5 2,808 2,808 2,484
R7.106 |Ew3Y(A) BE aibss 34 5 3,024 2,592 2,376
R7.10.6 |Ep5Y i At 6.0
R7.106 |MFb% JtimE At 10 ©
R7.106 |MFb% i At = ®
R7.10.6 |9 (%) [ITE) At 0.2 5 2,376 2,160 1,944 ®
R7.106 |79 (4&) Z450 A%t 5 ®
R7.106 |9 (&) REAR A%t 4 ®
R7.106 |29 i At 39 ®
R7.10.6 |k=hk JtimE At 2.1 4 3,240 2,808 2,484 (W)
R7.10.6 |k=hk FE aibss 4 (W)
R7.10.6 |k i At 29 (W)
R7.106 |E—<> B3] At 12[ 015 140 124 70
R7.106 |E—<> i At 1.6
R7.10.6 [MAL& FIE At 16 5 1,836 1,620 1512
R7.106 |MAL& i At 18
R7.106 |[Ehl L& JtimE ARt 8.1 10 4,644 1,512 1,296 ®
R7.10.6 [[FhL L& i At 8.1 @
R7.106 |&&LVE FE At 10 ®
R7.106 |&&L0E I #axt 0.4 05 238 216 194 ®
R7.10.6 [&&UNE &Et At 0.9 ®
R7.10.6 |[OFELLE Fi st 0.3 4 3,240 2,700 2,484
R7.106 |®FEELLVE Ait FHXE 0.3
R7.106 |f=Fh& JtimE Lizksy 20.1 20 5,400 4,860 4,320 ®
R7.10.6 [f=Fh& &Et At 20.3 ®
R7.10.6 |#£LLV=1F % #axt 0.4 0.1 205 130 108 ®
R7.10.6 [#LU V=1 &Et A8t 0.4 ®
R7.10.6 |ZDE11T+ RE LEES] 0.7 0.2 65
R7.10.6 |ZDE11+ Ait FHXE 0.7
R7.106 | A%HL&HL RE LEES] 0.3 0.1 54 38
R7.106 | AHL&HL B LEES] 0.1 0.1 84
R7.10.6 [57L&HL &Et At 0.5
R7.106 |&t FHXE 128.3
R7.10.6 [#&t A8 128.3 min:RE
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£AA % FEEN |FERGIOAE|#EK)|E2E ke)| &EWM) | FEFE) | REMA) &% No.
R7.10.6 | A (BRE) 4 Y 10 @
R7.106 |#HhA (IBER4E) == By 10 )
R7.10.6 |#hA &% Y = @
R7.106 |YAT (CaFd—LR) |[&& By 10 @
R7.106 |YAT (42 5L) s By 10 @
R7.106 |YAT (Y2 5L) Lz By 10 @
R7.106 |YAT (42 5L) £ By 10 @
R7.10.6 (AT (E#) = By 10 @
R7.10.6 |YAC (E#) Lz By 10 @
R7.10.6 |YA T (E#) £ By 10 @
R7.106 (VAT A&t ) = @
R7.10.6 |%xL R Y 10
R7.10.6 |%xL R Y 10
R7.10.6 |%zL At Y -
R7.10.6 |5:7TVR 115 Y 5
R7.10.6 [5:-7TVR =1 Y -
R7.10.6 |HE(TIREE) =B ) 6.5 ®
R7.10.6 A& CRER) B4 By 10 ©)
R7.10.6 (& &% ) = ®
R7.10.6 |SRES(EI) &% ) 0.35 @
R7.10.6 |SE3(Cvqo2zhvn) [EE By 5 @
R7.10.6 [&E5 &% ) = @
R7.106 |<Y /307 By 5 ®
R7.106 |<Y &5 ) = ®
R7.10.6 [LMELL FhRE Y 0.35
R7.10.6 [LMELL At Y -
R7.10.6 [AOA(7—ILR) B4 Y 8
R7.106 |AOY & 0] =
R7.10.6 |5t ) =
R7.10.6 [#st 3y = iR RE
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STTHEL0H 6 H
£AA % FTEEH |FENMEIOAZ| #2028 ke)| SEM) F{E (M) RIE(H) &% No.
R7.10.6 |AhA (IBRE) FhRE fizbol 0.6 10 2916 2,700 2,376 @
R7.10.6 |#MA (BRE) == Haxt 45 10 8,640 3,564 3,024 @
R7.106 |&HA a5 LS 6.7 @
R7.10.6 (VAT (PaF+d—LF) |5 LS - 10 )
R7.10.6 VAT (B2 5L) B Hxt - 10 )
R7.10.6 [YAZ (B2 5L) iz LS - 10 )
R7.10.6 (VAT (B2 5L) s 4 LS - 10 )
R7.106 (VAT (E#) & LS - 10 @
R7.106 (VAT (E#) iz LS - 10 )
R7.106 (VAT (E#) ot 4 LS - 10 )
R7.106 VAT A&t LS = @
R7.106 |%L R LS 6.7 10 5,400 5,400 4,860
R7.106 |%L &% LS - 10
R7.106 [%L At At 6.7
R7.106 [5-95VR 1154 Hxt - 5
R7.106 |5-T52R &% LS -
R7.106 (A& (TIREH) =B Hxt 8.0 6.5 ®
R7.10.6 A& (RER) 25 Hxt - 10 ®
R7.106 |H&E Ch At 8.0 ®
R7.106 [RES(EIE) RE Hxt 02 035 702 702 464 @
R7.106 [RESCEv1o=rrAvh) |RE Hxt 0.6 5 9,180 8,640 @
R7.106 [R&ES =1 At 1.0 @
R7.106 <Y R Haxt 0.2 5 4,860 ®
R7.10.6 |<Y aF LS 0.2 ®
R7.106 [L\5LLK FhRE Hxt 02| 035 410 410 389
R7.106 [LM5LL At At 0.2
R7.106 [AQ(F—ILR) B4 Hxt 02 8 18,360 5,400 3,780
R7.106 [*Q> =1 At 0.2
R7.10.6 |&t At 23.0
R7.10.6 [#a&t LS 23.0 N RE
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